


ﬂs) _F(,.) . {‘;‘fr 4 x$1 is digcontinvau

B A i‘. x=|

at 1 becouse dim §0Q does not exist.
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*4-;:,'. Pty does not exist.

4 (1,3)

21,) By theorem ¥, the Ftrigonemetnic fun
ond the po'gnoﬂlial punction x+{

on IA. 84 pert G of theorem

~ Jion sian

ate conYinvous

§ , hilxlz _S_-.o’...} ‘s continveus on it domein
"

fxlxg-1}

28) The sine and codine functions ore conti.



®

43) $(x) =x3-xt ¢x i3 continvous on the
intervel [2,3) since it s o pelynomial.
(=6 and §(3)=1t.
Since 6410 {21, there is o avenber ¢
in (2,3) svch thet gledz 10 by In ter.

me diate Velve Theoltem

i sotis fies

5'3) 1 $hece i3y Svech o number ,

+he equetion

sla) con Hinvov.
and §(-0)=-940 wnd fl-t1z120.
by Tatecmediote Uelve theetem , there is

o twmber ¢ between -2 ond -




thot §(c)20,30 thet cdetzc,

poges 113-12

| Usin fim —l z2M
8) 3 % -dXo R = ¥g -

me dim J20r0 - J. 4V Y (B0 -
XY -4 e x-b

_ lim -3 (& +3)
XA x-4 tel’e 3)
= lim 224 -3

1Y G-y (fTarr'+d)

= dim }_L!,ﬁ).——- 2 _1-———
> A (') I

Tongent ‘hae q-$= "‘3' (2~4)
 de 4 (x -4)+3



19) ﬁ) s;QCC +‘\G S'O" O.f *h‘ hﬂ’Cﬁ* ‘*
420 is O,1he cer's initial velocity weas 0.

b) The slope of +he }onqent is qrester at

C +thon at 8,50 the cof wos 9going gaster ot C.

c) Neor A, the $onqent lines ece becoming

steeper as % incfeases,ss e velocity wes incres

$0 $he Cor wel S'-GQJ?M, vp.
Near 8, the doagent lines ore becoming

so the cor wes slowing down.
heone

bing,

less steep,
The S*COfu‘) ‘ongent neer c ist
C the cer heod ]‘03" .fl'm'sluJ speed

at C ,50 ot
lowing

ng »f,ud was about te start s

dow0.



18) o) v(t)z dim _"!ﬂ*_"L_':!Sl’_
h0 h

_ lim (56.34 -0.83h) = §¢.34 m/s.

h0
b) via)= hm Higrh) - Hls)
" h=0 h
- "im ($%e ”99&-0.’31 _1.06ak -0. ). e
= i :
. lin (98 -1.400 - 0.83h)=68-14ba M
Y |

c) The otfow strikes the moon when The heigh

s O thet is 8% -0.83t% 0
' t(59-0.93k)-0
e &% 2 69.95 (since f#O)

0.93
d) From pard. (c), v(EL)=59-1u %z-gm/,

Thu:, the octow will have velocily of -98 mjk,

nence €2



